
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

6.802 × ________ = 6802 2.324 × ________ = 23.24

4.3 × ________ = 430 2.813 × ________ = 28.13

4.006 × ________ = 400.6 5.5 × ________ = 55

1.452 × ________ = 145.2 3.453 × ________ = 3453

3.043 × ________ = 30.43 4.453 × ________ = 445.3

7.637 × ________ = 7637 6.319 × ________ = 63.19

1.696 × ________ = 169.6 9.463 × ________ = 94.63

9.244 × ________ = 924.4 6.6 × ________ = 66

3.333 × ________ = 3333 1.117 × ________ = 1117

3.726 × ________ = 372.6 10.402 × ________ = 104.02
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

6.802 × 1000 = 6802 2.324 × 10 = 23.24

4.3 × 100 = 430 2.813 × 10 = 28.13

4.006 × 100 = 400.6 5.5 × 10 = 55

1.452 × 100 = 145.2 3.453 × 1000 = 3453

3.043 × 10 = 30.43 4.453 × 100 = 445.3

7.637 × 1000 = 7637 6.319 × 10 = 63.19

1.696 × 100 = 169.6 9.463 × 10 = 94.63

9.244 × 100 = 924.4 6.6 × 10 = 66

3.333 × 1000 = 3333 1.117 × 1000 = 1117

3.726 × 100 = 372.6 10.402 × 10 = 104.02
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